Name: _________________________

Practice Final 2009

Math 220

Ch. 1-6 & R1-R5

Instructions:  You should treat this practice test just like the real exam.  Give yourself 2 hours to complete the exam.  Complete all problems that are ”easy” first, and then return to the more difficult problems later.  Show all work, at all times and box your final answer.  Word problems should show setup, expressions and equations that use algebra.

This practice final will give you credit for 2 quizzes and 3 homeworks if you work for 2 hours or more and if the test is more than 75% complete.

1.
Multiply/Divide using decimals.  Give each answer as a decimal.  If it is 

repeating, do not round show the bar over the repeating number(s).

a)
(2.4)(0.07) 


b)
9.6 ( 9 

c)
147  (  50

d)
(0.16)2



e)
1.59  ÷  0.3
2.    Find the answers to the following fraction problems (using fractions) and then give 

       the answers in lowest terms and/or as a mixed number.

a)
2 5/6  (   2/3 

b)  4 1/6  (  1 5/6   

c)
2 1/10  +  1 4/5
d)
25  +  81/115

e)
211  –  211/294 

f)
258 11/239  (  117 17/239





g)
1005 216/227  +  1529 31/227
3.
Simplify completely.  If an answer is a fraction make sure to answer in lowest terms and as a 

mixed number where necessary.  Show all work for all steps.  Use only strict order of operations.


a)
5 [2 3  (  4] + 4

b)

     -2 | 6 ( 24 | ( 4  +  3       
  

 3(2)4  (  9(22)

 


 12(2   +  12  (  (-4  (  2)2
4.
Compare using < , > or =.  You must show the work in arriving at 2 numbers to 

compare in order to receive full credit.

a)
   - 15   _____
  - ( - 15)


b)
   -1.501   _______
- 1.51

c)
0.09
______
0.19


d)
5/27
______
10/51
e)
-27
______
-15


f)
-5/27
______
-10/51
g)
- 52
______
(-5)2


h)
- ( - 3.1 ) _____   - | - 3.1 |

5.
Simplify the following completely.  Remember that expressions can’t be solved.

a)
4(2x  –  1)  –  2(2x  +  3) 

b)
¼ x2  (  2/3 (1/2 x2  (  2/3x)  (  1

6.
Show the exact translation to an polynomial subtraction problem (don’t simplify while translating).  After it is translated, then simplify.

Subtract 3.1x  +  1.8  from 4x  –  5



7.
Clear and solve the following equation of fractions.



1/5x  +  2/3  =  1/2(1/10  –  10x)

8.
Solve the following. 

a)
2(x  +  5)  –  4
=  x  +  3(x  +  2)
b)
3(x  +  5)  –  x  =  4x  –  2(x  +  1)

9.
For the given linear equation in two variables complete the table of solutions.


Highlight the answer that is the x-intercept.

2x  +  3y  =  6

	x
	y

	
	4

	
	0

	0
	


10.
Solve for x:
x  –  5b  =  3(a  +  b) 



11. 
For the equation:
-9  +  3y  =  2x

a)
Put the equation in slope-intercept form. Remember that is solving for one of the variables.

b)
On the line provided, give the slope.   m = __________



Indicate how you arrived at this answer here.
c)
On the line provided, give the y-intercept as an ordered pair. ___________

d)
On the line provided, give the x-intercept as an ordered pair. ___________  

Show the work in getting the x-intercept in the space provided.

e)
On the line provided, give a third, integer, ordered pair solution. _______



Show the work in obtaining this solution in the space provided.  It may not be done using 

the graph, substitution and solving of an equation must be used.

f)
Using 3 points, graph the line on the coordinate system below.  Don’t 

forget to label your 3 points, put arrows on the line and label the line.


12.   
Give the equation of the line passing through the points (4,-8)  and (-3, 6).  

Full credit will not be given unless you use the point-slope form, and show all work as outlined below.
a)
Show your work for finding the slope.

b)
Plugging into the point-slope form

c)
Give the final equation in slope-intercept form.  
13.  
Solve the linear inequalities in 1 variable and graph them on a number line.  Give 

each solution set in interval notation.
Use a pen to graph on a pencil number line!


a)
5x   <  24  +  2(x  (  3)


b)
-1  (  -3x  +  5  (  8

14.
Write in standard notation

a)
-1.02  x  10 4





b)
1.25  x  10-6

15.
Write in correct scientific notation:

a)
-0.0000543





b)
15,020, 000,000

16.
Multiply using exponents rules & write in correct scientific notation.  Do not 

multiply in standard form.



(1.1 x 108)(9 x 104)

17.
Find the quotient and write your answer using correct scientific notation.





       (7.2 x  106)        






        (8 x 10-3)

18.  
Solve the linear inequality in two variables.  Show your work for a checkpoint 

above and below the boundary line.  Do show 2 points labeled that you used to 

graph the boundary line.






3x   –  2y  <    -4


19.
Multiply.


a)
(x  (  1)(3x  +  5)



b)
(2x  +  3)2


c)
(5x  – 2)(5x  +  2)



d)
(x  +  3)(x  –  4)(x  +  1)
20.
Divide.  Be Careful.

(15x4y5  (  8x2y4  +  60xy3)  (  (5x2 y)

21.
Use long division to divide.

  3a2  (  14a  +  30  







   

3a  (  5

22.
Simplify each of the following using exponent rules.  Do not leave any negative 


exponents or numbers raised to powers.  Show all work.

a)
(-5x3y)3


b)
4-1  –  2-2


c)
7x0

e)
    3x3 y3    



f)
  2x2y2z2  

 

  18x 5y




  -5xy3z-1



23.
You must answer 2 of the following word problems using a system of equations.  

You must show the set-up, and a system of equations that could be used to solve, 

but you do not have to solve the problems.

a)
A physician invests $24,000 in a savings account and a cd.  If the savings account 

yields 6% and cd yields 12% simple annual interest, how much is invested in each 

if the annual income from both bonds is $1,980?

b)
In a triangle, the middle-sized angle measures 8( more than 2 times the smallest 

angle.  The middle-sized angle measures 59( less than the largest angle.  Find the 

measure of the angles.

c)
A chemist will mix a 50% acid solution with a 10% acid solution to make 100 

milliliters of a 30% solution. How many milliliters of each solution should be 

mixed to get the desired solution?

24.
Solve by putting in standard form and using the zero factor property.




3x2  (  x  (  4  =  6

25.
Solve using the quadratic formula.



14x2  +  19x  (   3  =  0

26.
Solve the following system using substitution.
3x  +  y  =  4


Give the solution as an ordered pair.


5x  −  y  =  4

27.
Solve the following system using elimination.
2x  +  4y  =  2


Give the solution as an ordered pair.


5x  +  y  =  -13

28.
Factor all of the following problems completely.

a)
12x5  (  15x4  +  9x3  +  15x2



b)
x3  (  3x2  +  7x  (  21

c)
6x2  (  23xy  +  20y2




d)
-5x3  +  5x2  +  30x
e)
(x  (  5)2  +  7(x  (  5)  +  6



f)
4x2  (  20xy  +  25y2
g)
36x6  (  25y2





h)
8x3  +  125

i)
4x2  +  16





j)
x2  (  11x  (  18

29.
Simplify the rational expression.

    x2   (  4x  (  32    







      


      2x2  (  128

30.
For all the parts you must show setup, an equation that could be used to solve the 

problem (using algebra) and for one and only one you must solve (showing all the work) 

the equation that you created.
a)
The product of thirteen and a number, subtracted from twelve is equivalent to the 

sum of forty and the number.  Find the number.  Assume that the number is x.

b)
Two angles are supplementary.  Twice the larger, less the smaller is 99(.  What 

are the two angles?

c)
I’m thinking of two consecutive odd integers.  Twice the first, added to one more 

than the second is 54.  Find the two consecutive odd integers.

31.
Solve only one of the following problems. You must show setup, an    

equation/expression that you will use to solve (showing all the work) the problem.

a)
A “Going-Out-Of-Business” sale advertised a 30% discount on all merchandise.  


Find the discount and sale price of an item originally priced at $125.

b)
Find the average of the following numbers:
-8, 7, 25, -17, 3, -4

c)
My checking account is overdrawn (a negative balance) by $215.  If my mortgage 

check of $2626 clears today, how much will my checking account have in it.  Be 

sure to use integers to set this problem up.  (You must show setup, expression and then simplify.)

32.
Translate each of the following into algebraic expressions.  Define your variable!

a) The difference of 14 and a number

b) Twice some number added to 3

c) The quotient of 15 and a number

d) The product of five and a number subtracted from 36.

33.
Simplify completely.

  y2  (  4y  +  3    (        y2   (  1       







y2  +  3y  (  18        y2  +  10y  +  24

34.
Solve the following proportion for x.

  x  –  5    =    x  –  3    









     12                 4

35.
Using methods of proportions, convert the units.

a)
Convert 23 feet to inches.

b)
If 2.54 cm is 1 inch.  Convert  12.7 inches to cm.

36.
If Sally can make $255 dollars in 3 days, how much can she make in 7 days.  Use 


methods of proportions to solve this problem.  Show setup as well as the solution.

x





y





[





2





]
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